
68

      

 Moulding Supplies Edition 13

FITTINGS

Hex Plug Parallel

Part No. A D L L1 SW
DM10 M10x1 14 11 8 5 25
DR1/8 G 1/8 14 11 8 5 25
DM12 M12x1,5 17 15 12 6 25
DR1/4 G 1/4 18 15 12 6 25
DM14 M14x1,5 19 15 12 6 25
DR3/8 G 3/8 22 15 12 8 25
DR1/2 G 1/2 26 18 14 10 25
DR3/4 G3/4” 32 21 16 12 1
DR1 G1” 40 22,5 16 17 1

DR1-1/2* G1-1/2” 55 22,5 16 24 1

* With O-ring.

Pressure Plug Taper

Part No. A L SW
RM8 M8x0,75 8 4 100
RM10 M10x1 8 5 100
R1/8 1/8” BSPT 8 5 100
RM12 M12x1,5 8 6 100
R1/4 1/4” BSPT 10 7 100

RM14 M14x1,5 10 7 100
R3/8 3/8” BSPT 10 8 100
R1/2 1/2” BSPT 10 10 100

Pressure Plug Parallel

Part No. A L SW
RM6C M6x0,75 7 3 100
RM8C M8x0,75 8 4 100
RM10C M10x1 8 5 100
R1/8C 1/8” BSP 8 5 100
RM12C M12x1,5 8 6 100
R1/4C 1/4” BSP 10 7 100

RM14C M14x1,5 10 7 100
R3/8C 3/8” BSP 10 8 100
R1/2C 1/2” BSP 10 10 100




